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E = activation energy (cal/mol)
R = gas constant (cal/deg mole)
T = absolute temperature (K)
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Temp (°C)
Exp Time(h) 90 100 110 120 130
AA7} 0.79 0.79 0.79 0.79 0.79
0 o f = 0 0 0 0 0
FAE 0 0 0 0 0
AAk7} 0.79 0.80 0.82 0.84 (.86
24 ol f = 1.8 2.0 2.3 2.8 3.6
FAE 0.9 1.0 15 2.0 2.8
Zd"&ﬂ 0.80 0.81 0.84 0.86 0.92
72 ol 22 . 2.5 3.5 57 9.7
—‘T—’“E_ 1.3 1.5 2.0 3.8 7.6
AAb7} 0.81 0.83 0.90 0.93 0.98
168 o= 39 5.1 7.1 8.6 15.0
FAE 2.5 2.8 4.2 79 15.8
A A7} 0.83 (.86 0.98 1.04 1.06
336 o] % 5.8 7.8 10.6 16.0 26.5
AR 3.2 52 8.2 14.6 26.5
AAL 1.00 1.20 1.40 1.80 2.20
720 o] E 11.6 20.0 28.0 40.0 61.0
FAE 6.4 14.2 23.0 36.0 53.0
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at 90°C : TAN=0.79+0.00018*{exp

time}-4.4*10 *{exp time*+8.3*10" ™{exp time)’

at 100°C : TAN=0.79+0.00036*{exp

timel-1.1*10{exp time}*+1.9610 *{exp time}’

at 110°C : TAN =0.79+0.00081*{exp

time}-1.46*10 ™{exp time*+2.09*10 *{exp

time'at 120°C : TAN =0.80+0.00107*{exp

time}-2.36¥10 {exp timey*+3.90%10*{exp time}’

at 130°C : TAN=0.80+0.00199*{exp

time}-6.82°10 " {exp time/*+9.38*10 *{exp time }*
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at 90 °C : °l-f-%=0.46+0.030"{exp
time}-6.2510"*{exp time}*+5.8*10 ™ {exp time}’
at 100 °C : olfx=0.41+0.039"{exp
time}-7.9%10 *{exp time!*+8.8*10 *{exp time)’
at 110 °C : o]-%-% =0.36+0.057*{exp
time}-12.4*10 ™ (exp time)’+13.7*10™{exp time}®
at 120 °C : o]f-% =0.74+0.065"lexp
time}-10.0*10 *exp time}+11.9*10™{exp times®
at 130 °C @ o] = =0.67+0.12%{exp
time}-20.1%10 ™{exp time)’ +21.0*10 ™ {exp time}®
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at 90 °C @ A x=0.15+0.021"exp
time}-5.4%10 *{exp time}*+5.0%10 *{exp time}*
at 100 °C @ ¥ ==0.24+0.019%exp
timei-2.5*10 *exp timel*+3.5*10 ™ {exp time}®
at 110 °C : A5 =0.36+0.026*exp
time}-2.1¥10"*{exp time!*+4.0¥10™*{exp time}®
at 120 °C ¢ 4% =0.31+0.053 exp
time}-5.5%10 *{exp time’*+6.9%10 ™{exp time!’
at 130 °C : A% =0.03+0.11%exp
time}-15.8%10 *{exp time}+13.7%10™*{exp time}*
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